1.

a) Name two mining methods used to mine diatomite in Kariandusi in Kenya.

(2marks)

Open cast mining

Drift/Adit method 

b) Outline three reasons why land dereliction occurs. 




(3marks)

Mining companies are not willing to spend money on rehabilitation projects that won’t give direct financial returns

Governments are anxious to exploit mineral resources without fully considering the consequences this will have to the environment

Little attempt by many governments to enforce rehabilitation laws

2.

a)Distinguish between indigenous forest and exotic forest.



(2marks)
Indigenous forest is a forest that is made of trees which are nature/natural to a country while exotic forest is a forest that is composed of trees that are alien to a country

b) State three benefits of agro-forestry. 






(3marks)
Soil fertility is maintained 
Supply of wood and wood products

Some trees are used for animal fodder

Some trees are planted to provide fruits for human and animal consumption 

Trees grown act as wind breakers at the edge of farm plots or between rows of crops.

3.

a) Apart from flooding name two other natural hazards experienced in Kenya.

(2marks)
Diseases and pests

Drought

Lightening

Earthquakes

Windstorms

b) Identify three ways through which water is polluted.




(3marks)
Disposal of domestic waste into water bodies

By natural causes e.g. soil erosion / terrestrial dust.

Abuse of water bodies by human beings e.g. washing clothes, bathing and animals
Discharge of agricultural chemicals into rivers and lakes by rain water.

4.

a) Give three economic factors that influence settlement.



(3 marks)
Employment opportunities,people move to urban centres to look for jobs

Social amenities, people migrate to urban centres because there are social amenities there

Mining activities also influence development of settlement

Establishment of manufacturing factories may also lead to growth of settlements
b) State two factors that contribute to the emergence of slums in urban centers. 
(2marks)
Low income due to unemployment, under employment 

Shortage of proper houses 

In adequate financial activity 

High cost of land/ houses in other parts of the town 

Poor urban planning 

High rates of migration into urban centers
5.

a) Name three natural habitats for wildlife. 





(3marks)
Forests


Woodlands

Acacia / Savannah grasslands

Scrublands
Desert and arid semi land

Rivers, lakes and swamps
b) State two factors that hinder domestic tourism in Kenya.



(2marks)
Inaccessible roads to the parks /of the roads get muddy and impassible during the rainy season.

Poverty i.e. high cost of accommodation in hotel/lodges in game reserves.

Kenyans do not appreciate beauty /cultural values of tourists sides.

Foreigners are treated better than locals.

Inadequate adverts /the locals are not aware.

QNS


a
( i)
Name two non – renewable sources of energy. 2mks
(ii)
Explain five physical factors that influence the location of a hydroelectric power station.5mks
 b)
A part from generating H.E.P, give three other benefits that have resulted 

from the construction of Masinga Dam.6mks
c)
Explain three benefits that would result from rural electrification in Kenya.6mks

d)
In what three ways did the power shortages resulting from the


drought of the years 1999 and 2000 affect the industrial sector in Kenya.6mks
MARRK SCHEME


a)
(i)Name two non – renewable sources of energy

· Petroleum /oil

· Natural gas

· Uranium

· Coal/peat

(ii)Explain four physical factors that influence the location of a hydroelectric power station.

· Presence of large volume of water from a river /Lake / large catchments  area to provide water to drive the turbines

· Regular / constant supply of water to ensure continuous generation of power

· Hard basement rock to provide a firm  foundation for the construction of a dam

· Provide space for reservoir

· Non-porous rock to prevent seepage

b)A part from generating H.E.P, give three other benefits that have resulted 

from the construction of Masinga Dam.

· It filters silt to save the other dams which are down stream

· It provides a fishing ground for the local communities

· It provides water for domestic use.

· It is a tourist attraction/reaction

· The dam provides a link role river Tana.

· Water for irrigation

· Provides employment

· Non-exhaustible/ renewable.

· Lean to use / non-pollutant

· Relatively heap

· Easy to use

· Adjustable to any fraction of energy using transformers

· Convenient to use in a variety of ways.

c)Explain three benefits that would result from rural electrification in Kenya.

· It would encourage setting up of industries in the rural  areas thus stimulating decentralization of industries.

· It would reduce the cutting down of trees and electricity would be available for domestic use

· It would attract/improve social amenities in rural areas reducing the need for people to move to urban areas.

· Most people would invest in the rural areas, which would lead to higher standards of living.

· It would encourage development of horticultural farming / to have ideal storage of perishable  of products.

d)
In what three ways does power shortages resulting from drought affect the industrial sector in Kenya.

· It leads to closure of some industries

· It leads to unemployment /redundancy/early retirement of workers.

· It leads to an increase in the cost of electricity / purchase and use of generators

· It leadsto power rationing. Which slows down rate of production

